Case Studies
Theme 4:
**Aid Project in a LEDC –NGO report
FARM – Africa
Name of country/region – Africa began operating in 1985 and in 1988 in Ethiopia 
Details of the project and changes/improvements made:
· Founded to reduce rural poverty
· By 2016, directly supporting 1.5 million people each year to improve their household income, move out of poverty and better withstand climate change
· Runs programmes in Ethiopia, Sudan, Kenya, Uganda, Tanzania
· Acting for the long-term, building relationships and delivering long-lasting change for farmers.
· Working flexibly, taking advantage of the most effective solutions, whether from communities, private sector, civil sector or government.

One example of the projects they do is known as: Sustainable Forest Management
Problem: too much forest being cut down not enough for future generations
What’s being done: taught how to produce coffee and honey sold and not cut trees down. Also taught how to make fuel-efficient stoves.
Helping (social): about 7500 communities
Sustainable: less deforestation more trees for future and make money for themselves.

** Economic migrants to the UK from Poland
Push factors: 
· High unemployment around 19%
· Low average wages one third of EU
· Housing shortages every 300 houses 1000 people for it.

Pull factors:

· Ease of migration – UK allowed unlimited amount in 2004 from EU unlike other countries.
· More work and higher wages – demand for tradesmen’s e.g. Plumbers.
· Good exchange rate – so when sending money home made a difference pound was worth a lot to polish currency.

Impacts on Poland:

· Economic – shortage of workers slowing down economy. Boosted by the 3 billion euro sent from abroad in 2006 by emigrants.
· Social – most people who left was young leaving a ageing population. With them leaving helped with the housing shortages and unemployment.

Impacts on UK:

· Economic – boosted by immigration. Polish workers’ pay taxes to support elder population.
· Social – some people unhappy about large number of polish immigrants
· Political – changed policy as some unhappy about unlimited people

** Glasgow
Population 580 000 and more jobs needed unemployment low
Redevelopments
Brownfield site (shipbuilding yards) – used for buissness, recreational and residential developments.
Over 200 projects costing £5 billion are occurring such as new CBD things and transport
£170 million invested to build a urban village with over 1500 homes, shopping centre etc..

Meet the needs of population:
social – improve transport, leisure and new homes
Economic – new buissness and jobs 
Environmental –more attractive more green spaces e.g. natural parks

Sustainable:
 Bus links, walking and cycling routes 
On a derelict brownfield sites
Materials from old building used

** Westfield Shopping Mall

Advanatges:
transport links to trains, buses and tubes
Build on a brownfield site
Glass on the roof acts like a greenhouse keeping the warmth inside
Generates money for the economy as a tourism attraction

Disadvantages:
Available for cars creating pollution
Local shops nearby unable to cope close down
Put strain on local transport

** Ageing Population

Causes:
Increased life expectancy
Dropping birth rate
1940 was baby boom

Problems:
More elderly people living in poverty
State pension low but government finding it hard to pay
Healthy services under pressure

Strategies to manage
Raise the retirement age- more taxes and fewer claiming pension
Encourage people to take out private pensions
Encourage immigration of young people able to pay taxes.        
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